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1. Can you write the rule for making pattern

for F?

Table given below gives the number of match


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_A9oHTMQzsFyF

sticks required to make a pattern of Fs.

Number of F's 1121314516 |7]8]..
Number of match sticks 4 | 8|12 |16120124 ¢ ..] .. |

o Watch Video Solution

Solution Of Textual Questions Page 232

1. Sarita and Ameena decide to paly a game of

expressions. They take the variable x and the
number 3 and see how many expressions they
can make. The condition is that they should

use not more than one out of the four number


https://dl.doubtnut.com/l/_A9oHTMQzsFyF
https://dl.doubtnut.com/l/_epdVRv6qMb3v

operations and every expression must have x
in it. Can you help them?

Sarita thinks of (x + 3)

Then Ameena comes up with (x - 3)

Is (3x+5) allowed?

Is (3x + 3) allowed?

° Watch Video Solution

Solution Of Textual Questions Page 239


https://dl.doubtnut.com/l/_epdVRv6qMb3v

1. Complete the entries in the following table

and explain why your answer is Yes/No.

SNo. | Equation Valueof the | Working Solution (Yes/No)
4 Variable :
1. x+10=30 x=10 10+10=20 30 No
2. x-+10=30 x=30 30+ 10=40=30 No
3. z+10=30 x=20 20+ 10=30=30 Yes
4. p=3=17 p=3 5-3=2#7 No
5. p-3=7 p=13 15-3=12#7 No
6. p=3=7 p=10 ‘| 10-3=7=7 Yes
T In=21 n=9 3x9=2T722] No
8. In=121 =" IxT=2I=21 Yes
9. é'4 =25 ! %_5#‘ No
=20 20 Yes
15 %=4 ?=4=4
M. | 24+3=7 i=5 2x5+3 No
=10+3=1327
12. 20+3=7 i=1 2xi+3 No
=243=5=27
13, 2+3=17 1=2 2%2+3 Yes
; =4+3=T=7

o Watch Video Solution



https://dl.doubtnut.com/l/_qUjGI5sL3xeJ

1. Find the rulewhich gives the number of
matchsticks required to make the following
matchstick patterns.Use a variable to write the
rule.

A matchstick pattern of letter Tand t

o Watch Video Solution

2. Find the rulewhich gives the number of
matchsticks required to make the following

matchstick patterns.Use a variable to write the


https://dl.doubtnut.com/l/_NbNYiQUuQAup
https://dl.doubtnut.com/l/_VCqHg0e9nVj2

rule.

A matchstick pattern of letter Zas z

° Watch Video Solution

3. Find the rule which gives the number of
match sticks required to make the following

match stick pattern. Use a variable to write the


https://dl.doubtnut.com/l/_VCqHg0e9nVj2
https://dl.doubtnut.com/l/_oBfl0pcX8KNx

rule.

For U:

o Watch Video Solution

4. Find the rule which gives the number of

match sticks required to make the following


https://dl.doubtnut.com/l/_oBfl0pcX8KNx
https://dl.doubtnut.com/l/_78dqElpTLcTP

match stick pattern. Use a variable to write the

rule.

For V:

o Watch Video Solution



https://dl.doubtnut.com/l/_78dqElpTLcTP

5. Find the rule which gives the number of
match sticks required to make the following
match stick pattern. Use a variable to write the

rule.

For E:

o Watch Video Solution



https://dl.doubtnut.com/l/_oswdDqDogBIy

6. Find the rule which gives the number of
match sticks required to make the following

match stick pattern. Use a variable to write the


https://dl.doubtnut.com/l/_oswdDqDogBIy
https://dl.doubtnut.com/l/_TKI4S63mLuhE

rule.

ForS:

° Watch Video Solution



https://dl.doubtnut.com/l/_TKI4S63mLuhE

7. Find the rule which gives the number of
match sticks required to make the following
match stick pattern. Use a variable to write the

rule.

For A:


https://dl.doubtnut.com/l/_rZrnurM457zF

° Watch Video Solution

8. We already know the rule for the pattern of
letters L,C and F.Some of the ltters fom Q.1
(given above) give us the same rule as that
given by LWhich are these ?Why does this

happen?

° Watch Video Solution



https://dl.doubtnut.com/l/_rZrnurM457zF
https://dl.doubtnut.com/l/_9h7MQDoyfUO9

9. Cadets are marching in a parade.There are 5
cadets in a rowWhat is the rulewhich gives
the number of cadets,given the number of

rows?(Use n for the number of rows.)

o Watch Video Solution

10. If there are 50 mangoes in a box,how will
you write the total number of mangoes in
terms of the number of boxes ?(Use b for the

number of bxes.)

| & I


https://dl.doubtnut.com/l/_DMF7vJw5ONXQ
https://dl.doubtnut.com/l/_AQvLjUhlnYm7

| ¥ Watch Video Solution |

1. the teacher distributes 5 pencils per
student.Can you tell how many pencils are
neede,given the number of students?(Uses for

the number of students.)

o Watch Video Solution

12. A bird flies 1 kilometre in one minute.Can

you express the distance covered by the bird


https://dl.doubtnut.com/l/_AQvLjUhlnYm7
https://dl.doubtnut.com/l/_LVVCmwNgOKrc
https://dl.doubtnut.com/l/_s5Eq2BR1fagT

in terms of its flying time in minutes?(Use t for

flying time in minutes)

° Watch Video Solution

13. Radha is drawing a dot Rangoli(a beautiful
pattern of lines joining dots with chalk powder
as in Fig.) She has 8 dots in a rowHow many
dots will her Rangoli have for r rows ?How
many dots are there if there are 8 rows?If
there ae 10 rows?

L,

| e |


https://dl.doubtnut.com/l/_s5Eq2BR1fagT
https://dl.doubtnut.com/l/_WkXqHewP5qeo

& Wwatch Video Solution I

14. Leela is Radha's youger sister.Leela is 4
years younger than Radha.Can you write
Leela's age in terms of Radha's age ?Take

Radha 's age to be x years.

° Watch Video Solution

15. Mother has made laddus.She gives some

laddus to guests and family members, still 5


https://dl.doubtnut.com/l/_WkXqHewP5qeo
https://dl.doubtnut.com/l/_23uGFhNKdgl1
https://dl.doubtnut.com/l/_eVZHlS3loEMC

laddus remain .If the number of laddus mother

gave away is |, how many laddus did she make?

° Watch Video Solution

16. Oranges are to be transferred from larger
boxes into smaller boxes. When a large box is
emptied, the oranges from it fill two smaller
boxes and still, 10 oranges remain outside. If
the number of oranges in a small box is taken
to be z, what is the number of oranges in the

larger box?

| e |


https://dl.doubtnut.com/l/_eVZHlS3loEMC
https://dl.doubtnut.com/l/_EpbDnktYebO8

& Watch Video Solution I

17. Look at the match sticks patterns of
squares. The squares are not separate. Two
neighbouring square have a common match
stick. Observe the patterns and find the rule
take gives the number of match sticks in term
of numbr of squares.

T T

] (&) {c) ()

° Watch Video Solution



https://dl.doubtnut.com/l/_EpbDnktYebO8
https://dl.doubtnut.com/l/_z21e6kRdm5cX
https://dl.doubtnut.com/l/_GVNgDhtUGT2s

18. Figs. Below gives a matchstick pattern of
triangles. As in Exercise 11 (a) above find the
general rule that gives the number of

matchsticks in terms of the number of

triangles.

° Watch Video Solution

Exercise 11 2


https://dl.doubtnut.com/l/_GVNgDhtUGT2s

1. The side of an equilateral triangle is shown
by x. Express the perimeter of the equilateral

triangle using x.

o Watch Video Solution

2. The side of the regular hexagon (fig. 11.10) is

denoted by |. Express the perimeter of the


https://dl.doubtnut.com/l/_A8z4ZR8PflBV
https://dl.doubtnut.com/l/_LlB8D1VSNLEj

hexagon using |.

i

o Watch Video Solution

3. A cube is a three-dimensional figure. It has
six faces and all of them are identical squares.

The length of an edge of the cube is given by |.


https://dl.doubtnut.com/l/_LlB8D1VSNLEj
https://dl.doubtnut.com/l/_LNFPqwLqSB1h

Find the formula for the total length of the

edges of a cube.

| =

L,

o Watch Video Solution

4.The diameter of a circle is a line, which joins
two points on the circle and also passes
through the center of the circle. (In the
adjoining figure AB is a diameter of the circle,

C is its center). Express the diameter of the


https://dl.doubtnut.com/l/_LNFPqwLqSB1h
https://dl.doubtnut.com/l/_udO5HZbbaxxq

circle (d) in terms of its radius (r).

|

L,

° Watch Video Solution

5. To find the sum of three numbers 14, 27 and
13. We can have two ways.
We may add 27 and 13 to get 40 and then add
14 to get the sum 54. Thus
This can be done for any three numbers. This
property is known as the associativity of the

addition of numbers. Express this property


https://dl.doubtnut.com/l/_udO5HZbbaxxq
https://dl.doubtnut.com/l/_7zHVOvearibV

which we have already studied in the chapter
on Whole Numbers, in a general way, by using

variables a,b and c.

o Watch Video Solution

6. To find the sum of three numbers 14, 27 and
13. We can have two ways.
We may add 27 and 13 to get 40 and then add
14 to get the sum 54. Thus
This can be done for any three numbers. This

property is known as the associativity of the


https://dl.doubtnut.com/l/_7zHVOvearibV
https://dl.doubtnut.com/l/_A8KvvizSKZtT

addition of numbers. Express this property
which we have already studied in the chapter
on Whole Numbers, in a general way, by using

variables a,b and c.

° Watch Video Solution

7. Write 10 other simple expressions and tell
how they have been formed.

r + 4

° Watch Video Solution



https://dl.doubtnut.com/l/_A8KvvizSKZtT
https://dl.doubtnut.com/l/_adQ5rDAOig6S
https://dl.doubtnut.com/l/_yvz2pV9ohKqf

8. Write 10 other simple expressions and tell
how they have been formed.

y—9

° Watch Video Solution

9. Write 10 other simple expressions and tell
how they have been formed.

5a

° Watch Video Solution



https://dl.doubtnut.com/l/_yvz2pV9ohKqf
https://dl.doubtnut.com/l/_69mRzs6XifmO
https://dl.doubtnut.com/l/_XSUHAh8G82xn

10. Write 5 other simple expressions and tell

how they have been formed.

L

7

° Watch Video Solution

11. Write 5 other simple expressions and tell
how they have been formed.

-3m

° Watch Video Solution



https://dl.doubtnut.com/l/_XSUHAh8G82xn
https://dl.doubtnut.com/l/_8HkW42mTELjp

12. Write 10 other simple expressions and tell
how they have been formed.

2m + 1

o Watch Video Solution

13. Write 5 other simple expressions and tell

how they have been formed.

4y — 5

o Watch Video Solution



https://dl.doubtnut.com/l/_2XWUmVQkoyi0
https://dl.doubtnut.com/l/_908tQXRCH7Mu

1. Make up as many expressions with numbers
(no variables) as you can, from three numbers
2, 3 and 5. Every number should be used not
more than once. Use only addition,
subtraction and multiplication.

Make the other expressions.

2 x (5—3)

o Watch Video Solution



https://dl.doubtnut.com/l/_5NOYHuJxZ5yR

2. Make up as many express ions with numbers
(no variables) as you can, from three numbers
5, 9 and 8. Every number should be used not
more than once. Use only addition,
subtraction and multiplication.

Make the other expressions.

9 x (8 —5)

o Watch Video Solution



https://dl.doubtnut.com/l/_vzewlEKBpPFw

3. Make up as many expressions with numbers
(no variables) as you from three numbers 5, 7
and 8. Every number should be used not more
than once. Use only addition, subtraction and

multiplication.

o Watch Video Solution

4. Make up as many expressions with numbers
(no variables) as you from three numbers 5, 7

and 8. Every number should be used not more


https://dl.doubtnut.com/l/_XnHovMP02Cbk
https://dl.doubtnut.com/l/_OcCC2LWPssNU

than once. Use only addition, subtraction and

multiplication.

° Watch Video Solution

5. Make up as many expressions with numbers
(no variables) as you from three numbers 5, 7
and 8. Every number should be used not more
than once. Use only addition, subtraction and

multiplication.

° Watch Video Solution



https://dl.doubtnut.com/l/_OcCC2LWPssNU
https://dl.doubtnut.com/l/_3JyurR1FuLr4
https://dl.doubtnut.com/l/_skXhYd4uvkjo

6. Make up as many expressions with numbers
(no variables) as you from three numbers 5, 7
and 8. Every number should be used not more
than once. Use only addition, subtraction and

multiplication.

o Watch Video Solution

7. Make up as many express ions with numbers
(no variables) as you can, from three numbers
5, 7 and 8. Every number should be used not

more than once. Use only addition,


https://dl.doubtnut.com/l/_skXhYd4uvkjo
https://dl.doubtnut.com/l/_jQOTbBfT8e9C

subtraction and multiplication.

Make the other expressions.

(8+5) x7

o Watch Video Solution

8. Make up as many expressions with numbers
(no variables) as you from three numbers 5, 7
and 8. Every number should be used not more
than once. Use only addition, subtraction and

multiplication.

o Watch Video Solution



https://dl.doubtnut.com/l/_jQOTbBfT8e9C
https://dl.doubtnut.com/l/_QbV7tliqIogw

9. Which of the following are expression with

numbers only?

(z+9)

o Watch Video Solution

10. Which of the following are expression with

numbers only?

(7 x 20) — 8z

o Watch Video Solution



https://dl.doubtnut.com/l/_QbV7tliqIogw
https://dl.doubtnut.com/l/_ztAqvR15cjoD
https://dl.doubtnut.com/l/_cW96crGD2X6I

1. Which of the following are expression with
numbers only?

5(9 —z) 4+ 4 x 6

o Watch Video Solution

12. Which of the following are expression with
numbers only?

10

o Watch Video Solution



https://dl.doubtnut.com/l/_OdhfDN4XEbGL
https://dl.doubtnut.com/l/_Xafig9qcdEH9
https://dl.doubtnut.com/l/_jOLvoshvYU8r

13. Which of the following are expression with
numbers only?

Ox+10

o Watch Video Solution

14. Which of the following are expression with
numbers only?

9 —2n

o Watch Video Solution



https://dl.doubtnut.com/l/_jOLvoshvYU8r
https://dl.doubtnut.com/l/_OhSHne68fiAw
https://dl.doubtnut.com/l/_EtoxFbZykUoc

15. Which of the following are expression with

numbers only?

(7 x 20) — (5 x 10) — 45 + p

o Watch Video Solution

16. Identify the operation (addition,
Subtraction, division and multiplication)
forming the following expressions and tell
how the expressions have been formed.

x+9¢c—7,2+72—17

o Watch Video Solution



https://dl.doubtnut.com/l/_EtoxFbZykUoc
https://dl.doubtnut.com/l/_k77ugEsr2YH2

17. Identify the operation (addition,
Subtraction, division and multiplication)
forming the following expressions and tell
how the expressions have been formed.

dx, —, 3x

T
8

o Watch Video Solution

18. Identify the operation (addition,
Subtraction, division and multiplication)

forming the following expressions and tell


https://dl.doubtnut.com/l/_k77ugEsr2YH2
https://dl.doubtnut.com/l/_Ifi7UqkXvYnC
https://dl.doubtnut.com/l/_dpFJP0kYYPlq

how the expressions have been formed.

2y + 17, 2y — 17

° Watch Video Solution

19. Identify the operation (addition,
Subtraction, division and multiplication)
forming the following expressions and tell
how the expressions have been formed.

2m,om + 9, — Tm + 4

° Watch Video Solution



https://dl.doubtnut.com/l/_dpFJP0kYYPlq
https://dl.doubtnut.com/l/_jV4KLBB6Zgnr
https://dl.doubtnut.com/l/_SE8DwDJsrk3z

20. Give expressions for the following cases.

9 added to x

o Watch Video Solution

21. Give expressins in the following cases:

7 subtracted from p

° Watch Video Solution



https://dl.doubtnut.com/l/_SE8DwDJsrk3z
https://dl.doubtnut.com/l/_Sf1zoVjzkYbs

22. Give expressins in the following cases:

p multiplied by 7

o Watch Video Solution

23. Give expressins in the following cases:

p divided by 7

o Watch Video Solution



https://dl.doubtnut.com/l/_oIL6U3Tzl4MW
https://dl.doubtnut.com/l/_g2OqAyEHhHDE

24. Give expressins in the following cases:

7 subtracted from -m

o Watch Video Solution

25. Give expressins in the following cases:

-p multipied by 5

o Watch Video Solution



https://dl.doubtnut.com/l/_bzii4ESYPZec
https://dl.doubtnut.com/l/_JRZrKGZBBDeb

26. Give expressions for the following cases.

-x divided by 9

o Watch Video Solution

27. Give expressins in the following cases:

p multiplied by -5.

o Watch Video Solution



https://dl.doubtnut.com/l/_zAwKpRTeZIz5
https://dl.doubtnut.com/l/_N4kvSZW9ruJM

28. Give expressions in the following cases:

11 added to 2m

o Watch Video Solution

29. Give expressions in the following cases:

11 subtracted from 2m

o Watch Video Solution



https://dl.doubtnut.com/l/_oDeHSjZ5pZbq
https://dl.doubtnut.com/l/_FxZndSHclzxA

30. Give expressions in the following cases:

5 times y to which 3 is added

o Watch Video Solution

31. Give expressions in the following cases:

5 times y from which 3 is subtracted.

o Watch Video Solution



https://dl.doubtnut.com/l/_XFfCHXl3iTmN
https://dl.doubtnut.com/l/_g2viuWYfOmrT

32. Give expressions in the following cases:

y is multiplied by -8

o Watch Video Solution

33. Give expressions in the following cases:
y is multiplied by -8 and then 5 is added to the

result.

o Watch Video Solution



https://dl.doubtnut.com/l/_6AC0ekPo4k00
https://dl.doubtnut.com/l/_LihG6Vqr7cUh

34. Give expressions in the following cases:
y is multiplied by 5 and the result is

subtracted from 16.

o Watch Video Solution

35. Give expressions in the following cases:
y is multiplied by -5 and the result is added to

16.

o Watch Video Solution



https://dl.doubtnut.com/l/_BBysTNCXBx6q
https://dl.doubtnut.com/l/_WZp9Mfv6C13z
https://dl.doubtnut.com/l/_CJB9Rs13IWjD

36. Form expressions using t and 4.Use not
more than one number operation.Every

expression must have t in it.

o Watch Video Solution

37. Form expressions using y, 2 and 7.Every
expression must have y in it.Use only two

number operations.These should be different.

o Watch Video Solution



https://dl.doubtnut.com/l/_CJB9Rs13IWjD
https://dl.doubtnut.com/l/_EBDy1ODvGEkW

Exercise 11 4

1. Answer the following
Take Sarita's present age to be y years.

What will be her age 5 years from now?

° Watch Video Solution

2. Answer the following
Take Aman present age to be x years.

What was his age 10 years back?

I ° Watch Video Solution


https://dl.doubtnut.com/l/_m8AfuYnnhJUr
https://dl.doubtnut.com/l/_xG3ubDtG2rJo

3. Answer the following
Take Sarita's present age to be y years.
Sarita's grandfrather's age is 6 times her

age.What is grandfather's age?

o Watch Video Solution

4. Answer the following

Take Aman's present age to be x years.


https://dl.doubtnut.com/l/_xG3ubDtG2rJo
https://dl.doubtnut.com/l/_XHzl7v7Xyr6R
https://dl.doubtnut.com/l/_bFfEtvAgKil9

His Grandmother is 5 years younger than

grandfather. What is grandmother's age?

° Watch Video Solution

5. Answer the following
Take Sarita's present age to be y years.
Sarita's father's age is 5 years more thabn 3

times Sarit's age.What is her father's age?

o Watch Video Solution



https://dl.doubtnut.com/l/_bFfEtvAgKil9
https://dl.doubtnut.com/l/_IY3dzsw1qWpg

6. Answer the following
The length of a rectangular hall is 4 metres
less than 3 times the breadth of the hall.What

is the length ,if the breadth is b metres?

o Watch Video Solution

7. Answer the following
A rectangular box has height h cm.lts length is

5 times the height and breadth is 10 cm less


https://dl.doubtnut.com/l/_bruWWrWo7Xt8
https://dl.doubtnut.com/l/_xOgBCMWm4P5p

than the length.Express the length and the

breadth of the box in trems of the heigth.

o Watch Video Solution

8. Answer the following

Meena, Beena, and Leena are climbing the
steps to the hilltop. Meena is at step s, Beena
is 8 steps ahead and Leena 7 steps behind.
Where are Beena and Meena? The total

number of steps to the hilltop is 10 less than 4


https://dl.doubtnut.com/l/_xOgBCMWm4P5p
https://dl.doubtnut.com/l/_bb9aEyivUnqe

times what Meena has reached. Express the

total number of steps using s.

° Watch Video Solution

9. Answer the following

A bus travels at v km per hour. It is going from
Daspur to Beespur. After the bus has traveled
for 5 hours. Beespur is still 20 km away. What
id the distance from Daspur to Beespur?

Express it using v.

° Watch Video Solution



https://dl.doubtnut.com/l/_bb9aEyivUnqe
https://dl.doubtnut.com/l/_dKXIvxPqllJ3

10. Change the following statements using
expressions into statements in ordinary
language.(For example, given Salim scores r
runs in a cricket match, Nalin scores (r+15)
runs. In ordinary language - Nalin scores 15
runs more than Salim).

A notebook costs ‘p. The book costs 3p.

o Watch Video Solution



https://dl.doubtnut.com/l/_dKXIvxPqllJ3
https://dl.doubtnut.com/l/_9MEvSMdEGqC6

11. Change the following statements using
expression into statements in ordinary
language.

Tony puts x marbles on the table. He has 5x

marbles in his box.

o Watch Video Solution

12. Change the following statements using
expressions into statements in ordinary

language.(For example, given Salim scores r


https://dl.doubtnut.com/l/_49igp5FtqXzC
https://dl.doubtnut.com/l/_FWfdUGmYuPZp

runs in a cricket match, Nalin scores (r+15)
runs. In ordinary language - Nalin scores 15
runs more than Salim).

Our class has n students.The school has 20 n

students.

o Watch Video Solution

13. Change the following statements using
expressions into statements in ordinary
language.(For example, given Salim scores r

runs in a cricket match, Nalin scores (r+15)


https://dl.doubtnut.com/l/_FWfdUGmYuPZp
https://dl.doubtnut.com/l/_GLNr3bRufzgk

runs. In ordinary language - Nalin scores 15
runs more than Salim).
Jaggu is z years old.His uncle is 4z years old

and his aunt is (4z-3) years old.

o Watch Video Solution

14. Change the following statements using
expressions into statements in ordinary
language.(For example, given Salim scores r
runs in a cricket match, Nalin scores (r+15)

runs. In ordinary language - Nalin scores 15


https://dl.doubtnut.com/l/_GLNr3bRufzgk
https://dl.doubtnut.com/l/_fLDHCQfZ3GRB

runs more than Salim).
In an arrangement fo dots there are r

rows.Each row contains 5 dots.

o Watch Video Solution

15. Given : Munnu's age to be 'x' years
Can you guess what (x - 2) may show?
Can you guess what (x + 4) may show?

What (3x+7) may show?

° Watch Video Solution



https://dl.doubtnut.com/l/_fLDHCQfZ3GRB
https://dl.doubtnut.com/l/_cO6D1uiwM7Zl
https://dl.doubtnut.com/l/_xplvLiiszc52

16. Given Sara’s age today to be y years. Think
of her age in the future or in the past. What
will the following expression indicate?

1 1
y+77y_37y+4§7y_25

o Watch Video Solution

17. Given x students in class like football. What
may 3x shows?
3z — Number of students liking basketball

i.e. number of students who like basketball is


https://dl.doubtnut.com/l/_xplvLiiszc52
https://dl.doubtnut.com/l/_OVieNTVqoUrx

thrice the students who like football.

What may % show?

° Watch Video Solution

1. State which of the following are equation
(with a variable). Give reasons for your answer.
Identify the variable from the equation with a
variable.

10 =2 — 5



https://dl.doubtnut.com/l/_OVieNTVqoUrx
https://dl.doubtnut.com/l/_TLNOGpmG2L1G

o Watch Video Solution

2. State which of the following are
equations(with a variable).Give reason for your
answer.ldentify the variable from the
equations with a variable.

(t—7)>5

o Watch Video Solution

3. State which of the following are

equations(with a variable).Give reason for your


https://dl.doubtnut.com/l/_TLNOGpmG2L1G
https://dl.doubtnut.com/l/_eOIMd2qGVa9F
https://dl.doubtnut.com/l/_Cs1xOlrnYiOu

answer.ldentify the variable from the

equations with a variable.

—~ —9
2

o Watch Video Solution

4, State which of the following are
equations(with a variable).Give reason for your
answer.ldentify the variable from the

equations with a variable.

7Tx3—-19=28

o Watch Video Solution



https://dl.doubtnut.com/l/_Cs1xOlrnYiOu
https://dl.doubtnut.com/l/_fovUe8VU3Hsp

5. State which of the following are
equations(with a variable).Give reason for your
answer.ldentify the variable from the
equations with a variable.

HYx4—8=2x

o Watch Video Solution

6. State which of the following are
equations(with a variable).Give reason for your

answer.ldentify the variable from the


https://dl.doubtnut.com/l/_fovUe8VU3Hsp
https://dl.doubtnut.com/l/_hplXG7TxwHJP
https://dl.doubtnut.com/l/_cqZHoifyWU95

equations with a variable.

x—2=0

° Watch Video Solution

7. State which of the following are equation
(with a variable). Give reasons for your answer.
Identify the variable from the equation with a

variable.

2m < 30

° Watch Video Solution



https://dl.doubtnut.com/l/_cqZHoifyWU95
https://dl.doubtnut.com/l/_6pvT2cxF4lu9
https://dl.doubtnut.com/l/_AoSU4rlCwNHx

8. State which of the following are
equations(with a variable).Give reason for your
answer.ldentify the variable from the

equations with a variable.

2n +1 =11

o Watch Video Solution

9. State which of the following are equation
(with a variable). Give reasons for your answer.

Identify the variable from the equation with a


https://dl.doubtnut.com/l/_AoSU4rlCwNHx
https://dl.doubtnut.com/l/_GhPNHj0cMjuj

variable.

7=1(11x5) — (12 x 4)

° Watch Video Solution

10. State which of the following are equation
(with a variable). Give reasons for your answer.
Identify the variable from the equation with a

variable.

7=(11x2)+p

° Watch Video Solution



https://dl.doubtnut.com/l/_GhPNHj0cMjuj
https://dl.doubtnut.com/l/_YMzpn0YmEFsV
https://dl.doubtnut.com/l/_G8DT0R5t4lAV

1. State which of the following are
equations(with a variable).Give reason for your
answer.ldentify the variable from the
equations with a variable.

20 = by

° Watch Video Solution

12. State which of the following are
equations(with a variable).Give reason for your

answer.ldentify the variable from the


https://dl.doubtnut.com/l/_G8DT0R5t4lAV
https://dl.doubtnut.com/l/_3Uf9MLNVxYtG

equations with a variable.

3q
7<5

° Watch Video Solution

13. State which of the following are equation
(with a variable). Give reasons for your answer.
Identify the variable from the equation with a

variable.

z+ 125 > 24

° Watch Video Solution



https://dl.doubtnut.com/l/_3Uf9MLNVxYtG
https://dl.doubtnut.com/l/_SqrfqyKTNrTA
https://dl.doubtnut.com/l/_WRZxgJWOFuIm

14. State which of the following are equation
(with a variable). Give reasons for your answer.
Identify the variable from the equation with a

variable.

20— (10— 5) =3 x 5

o Watch Video Solution

15. State which of the following are equation
(with a variable). Give reasons for your answer.

Identify the variable from the equation with a


https://dl.doubtnut.com/l/_WRZxgJWOFuIm
https://dl.doubtnut.com/l/_SEsCEEuyqxFV

variable.

7T —x

=95

° Watch Video Solution

16. Complete the entries in the third column of

the table:
S.No. | Eguation Value of Variable Equations safisfied Yes/No

(a) 10y=80 |y=10then 10=10=100 | Equation is not satisfied.
100 = 80

(b) 10y=80 |y=8then10x8=80 Equation is satisfied,
80=80

(c) 10y=80 |y=S5thenlO=5=50 Equation is not satisfied.
5080

o Watch Video Solution



https://dl.doubtnut.com/l/_SEsCEEuyqxFV
https://dl.doubtnut.com/l/_RJehi57Y1a1p
https://dl.doubtnut.com/l/_H14rGjZjHdoi

17. Pick out the solutiion from the values given
in the bracket next to each equation. Sow that
the other values do not satisfy the equation.

3m =60 (20, 5, 12, 15)

° Watch Video Solution

18. Pick out the solutiion from the values given
in the bracket next to each equation. Sow that
the other values do not satisfy the equation.

n+8=20(12,8,20,0)

° Watch Video Solution



https://dl.doubtnut.com/l/_H14rGjZjHdoi
https://dl.doubtnut.com/l/_tZSK0yyYK980

19. Pick out the solutiion from the values given
in the bracket next to each equation. Sow that
the other values do not satisfy the equation.

p-10=5 (0,10, 5,15)

o Watch Video Solution

20. Pick out the solutiion from the values given

in the bracket next to each equation. Sow that


https://dl.doubtnut.com/l/_tZSK0yyYK980
https://dl.doubtnut.com/l/_g8HXuvOoHaHw
https://dl.doubtnut.com/l/_QnuPhqib1zX8

the other values do not satisfy the equation.

X
— =2(3,2,6,4
5 ( )

° Watch Video Solution

21. Pick out the solutiion from the values given
in the bracket next to each equation. Sow that
the other values do not satisfy the equation.

r-4=0(4,-4,8,0)

o Watch Video Solution



https://dl.doubtnut.com/l/_QnuPhqib1zX8
https://dl.doubtnut.com/l/_kX3SH0AYrwT2

22. Pick out the solutiion from the values given
in the bracket next to each equation. Sow that
the other values do not satisfy the equation.

Xx+4=2(2,0,2,4)

o Watch Video Solution

23. Complete the table and by impection of
the table find the solution of the eqaution

m + 10 = 16.

m j1|2|3|4]|5|6{7|8|9|10}-{-~]-
m+10

| e |


https://dl.doubtnut.com/l/_sHW54ZZuagRo
https://dl.doubtnut.com/l/_d5E4XcvP3nFt

& Wwatch Video Solution I

24. Complete the table and by impection of
the table find the solution of the eqgaution

5t = 35.

° Watch Video Solution

25. Complete the table and find the solution of

the eqgaution % = 4 using the table.


https://dl.doubtnut.com/l/_d5E4XcvP3nFt
https://dl.doubtnut.com/l/_ZzMPBc8k4vIi
https://dl.doubtnut.com/l/_k51EScxFa24V

2
o
|
w
!

o Watch Video Solution

26. Complete the table and find the solution of

the eqaution m — 7 = 3.

m 5|16 7 g |9 |10] 81| 12]13
m-—17

o Watch Video Solution



https://dl.doubtnut.com/l/_k51EScxFa24V
https://dl.doubtnut.com/l/_LQ2ndNmWsMS8

27. Solve the following riddles,you
yourself construct such riddles.

Who am I?

Go around a square

Counting every corner

Thrice and no more!

Add the count to me

To get exactly thirty fourl.

may

o Watch Video Solution



https://dl.doubtnut.com/l/_REax0mRnMKIa

28. Solve the following riddles,you
yourself construct such riddles.

Who am I?

For each day of the week

Make an upcount from me

If you make no mistake

You will get twenty three!.

may

o Watch Video Solution



https://dl.doubtnut.com/l/_D9E80mudbT77

29. Solve the following riddles,you
yourself construct such riddles.

Who am I?

| am a special number

Take away from me a six!

A whole cricket team

You will still be able to fix!.

may

o Watch Video Solution



https://dl.doubtnut.com/l/_AcuhMUuzbdNf

30. Solve the following riddles,you may
yourself construct such riddles.

Who am I?

Tell me who | am | shall give a pertty cluel

You will get me backlf you take me out of

twenty two!?

o Watch Video Solution

Additional Questions For Practice Very Short

Answer Type Questions



https://dl.doubtnut.com/l/_TGgsFo1cWYvI

1. Which of the following is an equations.

A x + 2
B.x — 2
Cx—2=0

D. none of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_amDiUBGVk9B1

2. Which of the following does not have a

solution in integers

Ax—+2=2
Bx—1=7
C3zx+1=28

D. none of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_ClTC8BjKZ8mo
https://dl.doubtnut.com/l/_CfH7JWqkPdkq

3.x =3 is the solution of the equation

Ax-+11 =8
Bx+8=5
Cx+8=1

D. none of these

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_CfH7JWqkPdkq

4. The operations not involved in forming

expression 2x + — from the variable x and 2
x

is

A. addition

B. subratction

C.division

D. none of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_31rWd8wqoa1S

5. Quotient of x and 2 added to 9 is

T
A —
2—|—9

2
B.— +9
T

Cm+2
9

D. none of these

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_KZeCRlGP4FgX

6. Ria earns Rs x per day and spends Rs y per

day. Then her saving for the month of January

is

A.Rs (31x - y)

B.Rs 31(x - y)

C.Rs 31(y - x)

D. none of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_8irZmX4UvUVQ

7.1n -7x the literal factor is

A —1
B.—7
C.x

D. none of these

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_6RURIxQkDMRB

8. If 2a’b® and 3ab represents length and

breadth of a rectangle room then area is

A. 6a’b?
B. 2a°b?
C.6a°b>

D. none of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_Cc9sDlD1OmEV
https://dl.doubtnut.com/l/_EwjrC4hYV0GV

9. Fill in the blanks.

Letters used to represent numbers are called

o Watch Video Solution

10. Fill in the blanks.

Symbol having fixed numerical value is called

o Watch Video Solution



https://dl.doubtnut.com/l/_EwjrC4hYV0GV
https://dl.doubtnut.com/l/_qe096cF0rX1q

11. Fill in the blanks.

Algebraic expression 9x has term.

o Watch Video Solution

12. Fill in the blanks.
The two digit number whose tens digit is y

and one digit is x is

o Watch Video Solution



https://dl.doubtnut.com/l/_srru24XfgW2H
https://dl.doubtnut.com/l/_fkGu3Yc97K23

13. Fill in the blanks.

5 less than thrice a numbery is

o Watch Video Solution

14. Fill in the blanks.

The value of 52 — 15 = O when x =

o Watch Video Solution



https://dl.doubtnut.com/l/_HN0x5rOju2Ck
https://dl.doubtnut.com/l/_QeZ3YD1NgoQP

15. Fill in the blanks.

Trial and error is one of the methods to obtain

o Watch Video Solution

16. Fill in the blanks.
An equation is the statement in which the

symbol is used.

o Watch Video Solution



https://dl.doubtnut.com/l/_mFEjgdQrSIkm
https://dl.doubtnut.com/l/_xuuzn1qoK0hT
https://dl.doubtnut.com/l/_vWfECRXC0OwA

17. State whether True or False.
Literal, like variable is a term that does not

have fixed value -

o Watch Video Solution

18. State whether True or False.

If x is a negative integer, -x is a positive integer.

o Watch Video Solution



https://dl.doubtnut.com/l/_vWfECRXC0OwA
https://dl.doubtnut.com/l/_LQl7UZFE0KQ3

19. State whether True or False.

Coefficient of -y in — 22y is ( — 2z)°.

o Watch Video Solution

20. State whether True or False.

Number of angles in a triangle is a variable -

o Watch Video Solution



https://dl.doubtnut.com/l/_3lmwE4Skku5r
https://dl.doubtnut.com/l/_hiEO4kPSajWd

21. State whether True or False.
An equation is satisfied by definite value of the

variable -

o Watch Video Solution

22, State whether True or False.
If length of rectangle is twice its breadth then

its area is constant -

o Watch Video Solution



https://dl.doubtnut.com/l/_airoyeHrUBM9
https://dl.doubtnut.com/l/_wtUXVssRQRBB
https://dl.doubtnut.com/l/_v5E8OUDquBp4

23. State whether True or False.
The equation x—1=0and 3z -3 =0

have same solution.

o Watch Video Solution

24.State whether True or False.

The expression 4x has a variable .

o Watch Video Solution



https://dl.doubtnut.com/l/_v5E8OUDquBp4
https://dl.doubtnut.com/l/_qvGdVDNvUJF9

Additional Questions For Practice Short Answer

Type Questions

1. How is variable different from a constant?

o Watch Video Solution

2. What do you mean by the solution of the
equation? How many solutions does a linear

equation have?

o Watch Video Solution



https://dl.doubtnut.com/l/_OD1l7EbsgHL7
https://dl.doubtnut.com/l/_6Agw7hOooXGK

3. Change the following algebraic expression
into statements using ordinary language.
Rohan is y years old.His father is 3y years old

and his Mother is (3y - 5) years old.

o Watch Video Solution

4. Change the following algebraic expression
into statements using ordinary language.
Shopkeeper sold x water melons. There are 4x

water melons.

| I


https://dl.doubtnut.com/l/_fbqphKbWuQYP
https://dl.doubtnut.com/l/_Og88Aea0ovyt

| ¥ Watch Video Solution |

5. Change the following algebraic expression
into statements using ordinary language.

Neeraj is z years old. His wife is (z - 3) years old.

o Watch Video Solution

6. Change the following algebraic expression
into statements using ordinary language.
There are x rows of saplings in the garden.

There are 7 sapling in each row.


https://dl.doubtnut.com/l/_Og88Aea0ovyt
https://dl.doubtnut.com/l/_EqYWfwziNCXP
https://dl.doubtnut.com/l/_gdzysMEtln94

° Watch Video Solution

7. Translate the following into equations

12 subtracted from thrice a number gives 6.

o Watch Video Solution

8. Translate the following into equations
Two-third of a number is 1 less than the

number.

o Watch Video Solution



https://dl.doubtnut.com/l/_gdzysMEtln94
https://dl.doubtnut.com/l/_8cuJhdai5FKc
https://dl.doubtnut.com/l/_UsazvuTZ5brG

9. Translate the following into equations

Perimeter of a square is 4 times its sides.

° Watch Video Solution

10. Translate the following into equations

Radius of a circle is half the diameter.

o Watch Video Solution



https://dl.doubtnut.com/l/_UsazvuTZ5brG
https://dl.doubtnut.com/l/_ZmtB0kQEFR7U
https://dl.doubtnut.com/l/_XuHDj2tsaqlx

Additional Questions For Practice Long Answer

Type Questions

1. 3 times a number increased by 5 gives 20.

Find the number.

o Watch Video Solution

2. Twice a number added to 5 times itself is

equal to 70. Find the numbers.

o Watch Video Solution



https://dl.doubtnut.com/l/_s6Vo0zA8b0lw
https://dl.doubtnut.com/l/_nRzHMz3kainl

3. Radha pays Rs 81 for 6 pens and 3 pencils. If
the cost of a pen is 4 times the cost of pencil,

how much did she pay for pen?

o Watch Video Solution

4. Kavita, Jia and Aarti at multi storeyed
apartments. Aarti stays at t™ floor. Kavita's flat
is 3 floor above Aarti's flat and Jia's flat is 2
floor below Aarti's flat. The total number of

floors in the apartment are 2 more than 5


https://dl.doubtnut.com/l/_wuenL9UTIrWv
https://dl.doubtnut.com/l/_rO2aLtorJYXz

times the floor number where Aarti stays.
Express the floor number of Kavita, Jia and

total number of floors in terms of t.

o Watch Video Solution

Additional Questions For Practice Hots High

Order Thinking Skills

1. Observe the pattern of match sticks.

O (O (Y

Write the rule to find the number of match



https://dl.doubtnut.com/l/_rO2aLtorJYXz
https://dl.doubtnut.com/l/_7DQEGctCNz31

sticks in the pattern involving 7 huts. How
many huts will be involved in a pattern having

101 sticks?

o Watch Video Solution

Sample Paper For Practice

1. Coefficient of the variable in the expression

3 — 222 is

A3


https://dl.doubtnut.com/l/_7DQEGctCNz31
https://dl.doubtnut.com/l/_xirBW4Y5vXZ1

D. none of these

Answer: B

o Watch Video Solution

2. Aryan is x years old. His age 7 years ago was

Ax+7

B. 7x


https://dl.doubtnut.com/l/_xirBW4Y5vXZ1
https://dl.doubtnut.com/l/_uCRPQW3eMG39

Ce — 7

D. none of these

Answer: C

° Watch Video Solution

3.3 - X means

A. 3 subtracted from x

B. x subtracted from 3

C.x is subtracted 3


https://dl.doubtnut.com/l/_uCRPQW3eMG39
https://dl.doubtnut.com/l/_bvSDGckcjhUL

D. none of these

Answer: B

° Watch Video Solution

4. There are x toffees in a box. Mother puts 'y’

more toffees in the box. The total number of

toffees in the box are

A. Xy

B.x+y


https://dl.doubtnut.com/l/_bvSDGckcjhUL
https://dl.doubtnut.com/l/_KRUnXjP6Jj1Q

x
C. —
Y

D. none of these

Answer: B

° Watch Video Solution

5. Variable means that it

A. can take different values

B. has a fixed value

C. neither of the two


https://dl.doubtnut.com/l/_KRUnXjP6Jj1Q
https://dl.doubtnut.com/l/_txBR1YhDuTAf

D. none of these

Answer: A

o Watch Video Solution

6. If x takes the value -1 then the value of the

expression 5x - 4 is

Al

B.9


https://dl.doubtnut.com/l/_txBR1YhDuTAf
https://dl.doubtnut.com/l/_5Kc6gbZVigZ8

D. none of these

Answer: C

o Watch Video Solution

7.Fill in the blanks.
Mathematical expression formed using
arithmetic operations in numbers and

variables is known as

° Watch Video Solution



https://dl.doubtnut.com/l/_5Kc6gbZVigZ8
https://dl.doubtnut.com/l/_TqKtw8grRXeJ
https://dl.doubtnut.com/l/_vQ6QQFXInIuS

8. Fill in the blanks.
An equation is the statement in which the

symbol Is used.

° Watch Video Solution

9. Fill in the blanks.

Trial and error is one of the methods to obtain

° Watch Video Solution



https://dl.doubtnut.com/l/_vQ6QQFXInIuS
https://dl.doubtnut.com/l/_968QhUZeV9nn
https://dl.doubtnut.com/l/_9zNmJi6PSjds

10. Fill in the blanks.

The value of 2 — 12is O when x =

o Watch Video Solution

11. Fill in the blanks.
An algebric expression using the numeral 2
and 3 and the variable x in such a way that

only two arithmatic operations are used is

o Watch Video Solution



https://dl.doubtnut.com/l/_9zNmJi6PSjds
https://dl.doubtnut.com/l/_buLljpkJYabz
https://dl.doubtnut.com/l/_I6B3tP30ZS2R

12. Fill in the blanks.
General rule for finding thye number of sticks
in a n triangles for the sequences AAAAAA

IS

° Watch Video Solution

13. Answer the following.
Difference of two numbers is 7. If you write 'a
for the smaller number, how do you write the

larger number.

| €8 |


https://dl.doubtnut.com/l/_I6B3tP30ZS2R
https://dl.doubtnut.com/l/_x29ni0oDVz74

| ¥ Watch Video Solution J

14. Answer the following.

Find the perimeter of the triangle whose three

sides are x, X, V.

o Watch Video Solution

15. Answer the following.
Shopkeeper brought 200 shirts. He sold x

shirts every day. Write an algebric expression


https://dl.doubtnut.com/l/_x29ni0oDVz74
https://dl.doubtnut.com/l/_s1Ff2OM6k9Xv
https://dl.doubtnut.com/l/_KL167BB2PVqB

to show the number of shirts that would be

left after 1 week.

° Watch Video Solution

16. Complete the table and find the solution to

the given equation.

r+9=15

X
x+9

° Watch Video Solution



https://dl.doubtnut.com/l/_KL167BB2PVqB
https://dl.doubtnut.com/l/_cCNEQ0ahHyxA
https://dl.doubtnut.com/l/_xPeb42mEjKYz

17. Complete the table and find the solution to

the given equation.

6t = 42

1
61

o Watch Video Solution

18. Which of the following represent an
equation with a variable. Give reasons to

justify your answer.

Tx2—-9=5

l o Watch Video Solution


https://dl.doubtnut.com/l/_xPeb42mEjKYz
https://dl.doubtnut.com/l/_LVeCePKJXKqF

19. Which of the following represent an
equation with a variable. Give reasons to
justify your answer.

m—5>9

o Watch Video Solution

20. Which of the following represent an

equation with a variable. Give reasons to


https://dl.doubtnut.com/l/_LVeCePKJXKqF
https://dl.doubtnut.com/l/_nA1XtOFJ5Il0
https://dl.doubtnut.com/l/_79SKtilK1Z8b

justify your answer.

6—2
3 =

° Watch Video Solution

21. Which of the following represent an
equation with a variable. Give reasons to
justify your answer.

27T = Yy

o Watch Video Solution



https://dl.doubtnut.com/l/_79SKtilK1Z8b
https://dl.doubtnut.com/l/_ifvGNnU4ZsZi

22. Do as directed
Write the expression for

4 times y subtracted from 17

o Watch Video Solution

23. Do as directed
Write the expression for

One half of y added to 3

o Watch Video Solution



https://dl.doubtnut.com/l/_PXF3sp7ZArXI
https://dl.doubtnut.com/l/_7vUBv6g6jy2Z
https://dl.doubtnut.com/l/_OY6Yu9T2l3Db

24. Do as directed

Evaluate 3z2 — 2z + 1forz = — 1

o Watch Video Solution

25. Do as directed
Write two equations for which x = 3 is the

solution.

o Watch Video Solution



https://dl.doubtnut.com/l/_OY6Yu9T2l3Db
https://dl.doubtnut.com/l/_S3iEu9Q0SxOZ

26. Do as directed

Ashok starts from Roorki at 5: 00 a.m. If the
speed of his car is V km/hr and he observe
that at 12:00 noon he is just 30 km from Delhi.
Find the distance between Delhi and Roorki.

Why should we use seat belt during driving?

o Watch Video Solution



https://dl.doubtnut.com/l/_6uvQl0ImCyQE

